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Notes 8.6 Circumference to Area - Area to Circumference

Circumference to Area: Given the circumference of a circle, find the area of the
circle.

Example 1: The [circumference of a circular park is iﬁ—ﬂ?eeﬂ ind the area/of
the park. Round to the|nearest hundredth. | =

Step 1: | Find the r'adius]of the park. Use the circumference formula.

C=2nr Circumference formula,
450 =2emer Substitute 450 for C.
450 2eTer
i > Divide both sides by 2.
225 T
—_—= Divide both sides by .
m T
r=71.619 Divide.
r= 7162 feet Round to the nearest hundredth.

Step 2: |Find the arealof the park. Use the area of a circle formula.

2

A=mr Area of a circle formula.

A=me(71.62)2  Substitute 71.62 in for r.
A=me(5129.42) Multiply.
A = 16,114.548 Multiply.
A = 16,11455 feet?  Multiply.

The area of the park is about 16,114.55 feet?,
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Try This:

B e

a. Thel_lrcumfere.nce of a round dining table is 16.4  feet \_md fhe area of the dining

table to themenresf hundr'zdfh }:f a foot.

M =2mc

C =Y £

| 4 = 'ﬂl”'f =1 3

-l 3 4 lwf’@ o)

2.3 =TCf Ax [E The area of the

., R A =TT (Eg,‘%laf) +able Vs aloot
(% 3.6\Q A= al. 4o al.Ho £#2

EED [A= al-so 57|

Area to Circumference:
circle.

Given the area of a circle, find the circumference of the

Example 2: The] area af a round swimming pool Ll 230 Sq_ar'e 'l’aam’r_:t Find the
amount of f;ma,ngedzd to cnclnse the pool. Round to the/nearest

hundr'e.dth?. — O] rcom&erenc

Step 1: Find the radius of the pool. Use the area formula.

A=mr? Area of a circle formula.

1230 = e 1* Substitute 1230 in for A.

% ”::Z Divide both sides by .

391.52116 = r? Divide.

v391.52116 = Vr? Find the square root of each side.

19.786 = r Simplify

19.79 ft =r Round to the nearest hundredth for the radius.
Step 2: Find the circumference of the pool. Use the circumference of a circle

formula.

C =2nr Circumference of a circle formula.

C=2em+19.79 Substitute 19.80 in for r.

C=3958em Multiply.

C ~ 124.344 Multiply.

C=12434ft

Round to the nearest hundredth.

You need about 124.34 feet of fencing.
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Try This:

b. The town square is putting in a_circular fountain. The fountain will have an
kar‘en_ of 110 square feet| Find the distance around the edge of the fountain
to the tnemst hundredth (of a foot. Ao ncomderene
(D) Eadrodivs @) Circamberence
-
frafiEd CRATl
&
Yoz Xrr c = am(593)

il
(72 (35.0040%143 0r 1L §UT
e &.9(p ¢ 3T @@

[r< 593 ¢f] [cx31.30 54]

The oisrance (]FL_':rDr"Ci ‘he {r,}t%ﬂ i
af the foortain 13 a0t 37.20 feet
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